
Sample Runs of the Basic Gameplay for
Wheel of Fortune

Run # 1

Welcome to simplified WHEEL OF FORTUNE!

You have 0 points and 5 tokens left.

--- -------

(S)pin the wheel, (G)uess the puzzle, (Q)uit: Q

You lost. The answer was RED PEPPERS

Run # 2

Welcome to simplified WHEEL OF FORTUNE!

--- -------

You have 0 points and 5 tokens left.

(S)pin the wheel, (G)uess the puzzle, (Q)uit: S
The wheel stopped on 5000
Enter a new letter to reveal: R

R-- -----R-

You have 10000 points and 5 tokens left.

(S)pin the wheel, (G)uess the puzzle, (Q)uit: S
The wheel stopped on 550
Enter a new letter to reveal: E

RE- -E--ER-



You have 11650 points and 5 tokens left.

(S)pin the wheel, (G)uess the puzzle, (Q)uit: S
The wheel stopped on 10000
Enter a new letter to reveal: D

RED -E--ER-

You have 21650 points and 5 tokens left.

(S)pin the wheel, (G)uess the puzzle, (Q)uit: S
The wheel stopped on 700
Enter a new letter to reveal: P

RED PEPPER-

You have 23750 points and 5 tokens left.

(S)pin the wheel, (G)uess the puzzle, (Q)uit: G
Solve the puzzle: RED PEPPERS
You solved it!

You solved it and won 118750 points!!

Run # 3

Welcome to simplified WHEEL OF FORTUNE!

--- -------

You have 0 points and 5 tokens left.

(S)pin the wheel, (G)uess the puzzle, (Q)uit: S
The wheel stopped on 500
Enter a new letter to reveal: R

R-- -----R-

You have 1000 points and 5 tokens left.

(S)pin the wheel, (G)uess the puzzle, (Q)uit: S
The wheel stopped on 800



Enter a new letter to reveal: A

R-- -----R-

You have 1000 points and 4 tokens left.

(S)pin the wheel, (G)uess the puzzle, (Q)uit: S
The wheel stopped on 650
Enter a new letter to reveal: L

R-- -----R-

You have 1000 points and 3 tokens left.

(S)pin the wheel, (G)uess the puzzle, (Q)uit: S
The wheel stopped on 650
Enter a new letter to reveal: I

R-- -----R-

You have 1000 points and 2 tokens left.

(S)pin the wheel, (G)uess the puzzle, (Q)uit: S
The wheel stopped on 600
Enter a new letter to reveal: O

R-- -----R-

You have 1000 points and 1 tokens left.

(S)pin the wheel, (G)uess the puzzle, (Q)uit: S
The wheel stopped on 650
Enter a new letter to reveal: U

R-- -----R-

You have 1000 points and 0 tokens left.

You lost. The answer was RED PEPPERS


